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N. B.: (1) All questions are compulsory. AL ;
(2) Make suitable assumptions wherever necessary and state the assu mptions made.

(3) Answers to the same question must be written together, "
(4) Numbers to the right indicate marks. VAT

(5) Draw neat labeled dia rams wherever mggm}: ;
(6) Use of Non-programmable calculators is allowed. - .=,

YL

Attempt any three of the following: - p -l
What is object oriented programming? State I8 applications.
lustrate the relationship between object and class. - .+
Explain the concept of abstraction with suitable exarfiple. e
Explain in brief about reusability with suitable éxample,
What is polymorphism? Give suitable example for the same,

Write a note on dynamic binding. - Ay

MO A0 op

Attempt any three of the follq.ﬁij‘i‘j"g-? IR :
Explain the structure of CH g 050 30D

Write a C++ program to create a ¢lass Bank with. { acrio; custnaine, bal} as its
attributes. And implement the ﬁéth@ds*WithﬁyaW()_ »deposit().and showRalance(),
Explain in brief the concept of ﬁiﬂhd"*fkincﬁ()n.-.aﬁd_d?sﬁis with suitable example.

What is constructor? State ITS\Chal‘aCtEI‘lS]‘.ICS SR 3 _
Write a C++ program to iﬁ[,plgmént ‘the_condeiqg of coﬂsti‘gc;pr and dostructor.,
ppjntéjr[tq__'objeet:With suifable example.

o

moae

Explain the concept of:

N

Attempt angtkzé\gofthefollowmg S

v

Explain the coneept o ufiction overloading with _sﬁitiabl e exdmple.

Write a C++ program to overload binary (++) operator,
List the,o‘pénaqué;fh‘at_, canﬁof_bé;é\_{erlbaded-.VExpléin.,the rules for overloading the
TR e e T S £ AT
What is stgtigi;funbtiqn?\Expjaih'hdw‘itli‘s implemented.
What is pure virtual funetion? Explain how itis implemented,
“Explainin brief the concept of abstract class. -

il

o M

S

Attempt any three of th

- Pt any three of the following: -
- Explain the concept of multilevel inheritances with suitable example.

“erite,a G&“pr‘qgfam:tb‘i;pplement '\therfdliowing hierarchy of inheritance.

| ‘ S Tiger
. 3 " ¢ : ‘ '..:4. K,"-‘: i ; T g 2 \.” ; b ‘
j ~.(‘.f,i‘ NS 0T Y QI

+ Explain the coneept of method overriding with suitable example,

- Write a note on containership,

\ .Ex_pla;i_n: 1h§':r_rje§ﬁd{;i3m of handling the exception with suitable exam ple.
: (EXplaini‘in"brief_'about hybrid inheritance with suitable example.
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Write a C++ program to implement the concept of class tem

State and explain diffegent file modes.
t from the user and

inpu

Explain the concept of function template wi
Write a C++ program to read the

suitable file mode]

Attempt any three of the following:

5
a.
b
c.
d.
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(2% Hours) : *[To,tal Mﬂrlis; ‘75]
N. B.: (1) All questions are compulsory. i T P v ;:».”
(2) Make suitable assumptions wherever necessary and state the assumptit ns made.
(3) Answers to the same guestion must be written toggﬂlgg L AT S &
(4) Numbers to the right indicate marks. F e USSR s
(5) Draw neat labeled diagrams wherever _llgg;essm\ i S S R B e
(6) Use of Non-programmable calculators is allgw s ’~’_-‘-‘5 ;r* - Ny
1. Attempt any three of the following: g P
a.  How does a Microprocessor work? < g S st Ol ol R S
b.  Explain the following in terms of Compilersi- ~~ . ST Sa PG N &
i) Source code et Al Bl e 2o g6 A y
ii) Object code g e B O ».i":f o L
¢.  Howisa flip or a latch used asastorageelemeht'? e o -_1:.‘ >
d.  What are the different internal data eperatlons and the reglstenof the 8085 L
microprocessor? RS : ™ AT S ﬂ-’.—l. '
e. Describe the various buses in the 80§5 J!im“roprocesson AT T
f.  Draw a neat labelled dlagram of tﬁeﬁr 8085 Micmpl:ooessor, g N S Y
2.  Attempt any three of the faﬂoﬁvmgﬁ ' DR~ e
a.  Compare the working of an IN and’ OU'f(mstrucuon in 8085 rmcmprocessor
b.  Write a short note on, Memory map}ieél /O techniques. =
¢. List and describe the various Anfhmehc ms‘trucnons in the 8085 migroprocessor
instruction set. '
d.  Writean assemblx i)mgrtml fo subtract the ebntcnts Df‘ mémory locatlon 2041H from
2040H and store the differénce in 205b SN
e.  Compare and explafh the following instruction :- 4
¥ LDAX and STAX o)
& i1. JCand JNC = .
WO "HLT ahd NOP -~ |
f. Explam the workmgnf thc mstructions XRA A andithe ANI FOH.
3 Aftempt Qty_b_&uf the followmg <
a. Wrﬁe‘an asseribly program for 8085 mlcroprocessor to exchange the contents of
- memory logatiorn 2020H and 2021H-
1 PR Explain how rotate mstructmns can be used to check the if the hexadecimal number is
* . "odd-oran even mumbcr P i
o Caleulate the tlme deIay for the 8085 based Microcomputer with 2 MHz clock
£ frequency. :
Label Mnemomcs Operand T cycle
FERD 2 o BI3H 10
LOOB F o e 6
B Mov P ZORISY e 4
e ORA 4 ) B 4
e _‘ .INZ "5 s LOOP 10/7
d. ana pr@gram to generate a Square wave of a 500 microsecond delay.
&= -Expiam the effect-of the POP and PUSH instruction on the Stack Pointer.
. - Listand descrgbe the working of Various Calls and Returns instruction in 8085
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Attempt any three of the following: SO 15
Write an assembly program for 8085 microprocessor to convert. ( 11 11 11 11) i‘tg 1ts A
BCD equivalent. Ao 3%
Explain the following instruction for 8085 mlcropmcessor sl i _',_”',‘-'_::V__‘1";__-';,: AR

i)  DAA R N

i)  XCHG R S

Explain the working of an interrupt in 8085 mlcroprooessnn 3
What is the function of an editor , assembler and loader? «

List and describe of files generated after cross assﬁmblmg e
Write a short note on SIM instruction. R A ,_,f Sl

Attempt gny three of the following; ; R e A L
What are the features of Pentium Processor, =~ .~ = . -
List and describe the special Pentium registers - -~ SO
Describe the memory management lm‘?entmm and Pe'ntmm pro processo,rs

Compare Core i5 and i7 processors, - NS \) bl _?ﬁ
Describe the general SPARC Archﬁecgdre.'\v‘, = £
What are the various instruction formaynﬂle SPARC A::chﬂecturé‘? ey,

9FE72D2B8ADCF4B906821709A2C3ADA3




v e
Q B Code 33410‘ :

(2% Hours) O [Totamarks%] oy

N. B.: (1) All questions are compulsory. A A TR A W S S
(2) Make suitable assumptions wherever necessary and tate the assumptio s made.
(3) Answers to the same question must be written togethg XSS TN QLN
(4) Numbers to the right indicate marks. R GRS SN
(5) Draw neat labeled diagrams wherever n ecesggu
(6) Use of Non-programmable calculators is gllong_

Attempt any three of the following: "‘% VS i S OV -“-*-3‘15
What is E-Commerce? Explain the advantages; dlsadvantages and types of‘ )
E-Commerce. Vi, s ol -
Differentiate between Internet and WWW. VY oo

List and explain the common features used by all majoi‘ browsers o LV R =
Explain the use of RGB Color Values and Hex: ValueS n changmg the COlm of an
element in HTML. Give suitable examIJles. 8y

Name the tag used to create a hyperlmk EXplam 1ts attributes GlVe an e;xamp]e to
create a relative hyperlink. ¥

Write HTML Code to design the followmg Web page

MOBILE OPERATING SYSTEMS
1. Android
2.iPhone
3. Symbian

MOBILE MANUFACTURERS

» Samsung
e Apple
e HTC

Attempt any three of the followmg N 15
Design an HTML page with a client- side i unage map havmg clickable areas of shapes
- rectangle polygon and eircle.
What s 'the " use -of redirection to another URL? Design an HTML page that
automatically redirects the iiser to page “fy. htil” after 5 seconds.
Explain the following Semantic Tags with example.
i. <header> S50 i Znavs iii. <figcaption>
: Write HTML Code to deSlgn the following web page:

Weathes

CTity Temperature
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How are the following controls created on a form? — Checkboxes; Sjw arch el
Field, Submit Button o eIk
Explain the <audio> tag with all its attributes.

Attempt any three of the following: ey
What is an assignment operator? Explain any four asslgnment operat’ors with exai

Write a JavaScript program to accept a number frdfn tljé ﬂser and
its digits.
How are statements labelled in JavaScript? Explam with: the help of an exampl_,
What is an Array? Explain any four methods of Array Object with examples

Explain the following methods of Math ObJECt W1th example Cell() max(), random(), §

round(), sqrt(). LR A s
What are events? Explain the followmg events. O PSS, _;‘
i. onMouseOut ii. onKeyUp R .onSubmﬂ :_i _‘._iv,l_onLdad

Attempt any three of the followmg. A
Explain the different data types in PHP ‘
Write a short note on functl_ons ‘PHE

o AV ,eplace() “v. substr()
1 emoves the first ancl last element bf d One dlmens:onal
array and then dlsp]ays the remaming elements of the: array

Write a PHP program to f' nd the greater of‘ 2 numbers: A‘écept the numbers from the
user: RS oy

Attempt any thrg df the folldwing' 2
Write a PHP: progrém that uées regular eXpre n»;functlons to display all the
uppercase’ chai'ac‘tef 1 ‘the " stri ‘."“Thls is a,demonstranon of PHP Regular
Exptession”. - . . Wt SN -

Write a short note on sessions. m PHP Fo '

Write a PHP: program to accept Roll No Student Name and Percentage from the user

- and save the val‘ues in t‘able Studem (rno Sname percentage) in database College.

Explain the mail(). function, -

-----

Write a PHP program t eate a codkle usmg PHP and retrieve its value.

“Explain the. following 'PHP/MngL furiehons with example:
& mysql query 0

2
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(2%: Hours) - [Total Marks: 75

N.B.: (1) All questions are compulsory.

(2) Make suitable assumptions wherever necessary and s MM madc
(3) Answers to the same question must be written together. -

(4) Numbers to the right indicate marks. ,

(5) Draw neat labeled diagrams wherever necessary.

(6) Use of Non-programmable calculators is allowed.

Attempt any three of the following: w 3 - kD
Explain Conservation Laws and Engineering Probleni$ -
Explain the following with examples

i) Blunders

i) Formulation Errors

iii) Data Uncertainty

iv) Total Numerical Errors

Explain Floating Point representation and Errors in floating point arithmetic.

Use zero through third order Taylor series expansions to predict f(3) for:

F(x)=25x-6x>+ 7x — 88 .

Using a base pomt atx=1. Compute the true percent relatlve error for each approximation.
Evaluate y = x* - 7x? + 8x — 0.35 at 1.37 use 3 digit and 4 digit-arithmetic and find the significant
digits lost. Also find the relative error after rounding-off. '

Evaluate f(1) using Taylors series for f{x), where, fix)=x"=3x’+ 5x - 10

Attempt any three of the follow:ing:.‘ : ' : 15
Define and express each of the A, V., 8, and jt in terms of E. ;

Find the polynomial using Lagrange s interpolation polyﬁomlal whlch agrees with the table
below given values. Hence obtain the valué of fx)atx=2_

X 0 1 R 4
'f(‘x) -12 0 6 12
Find the Newton’s forward difference.interpolatton polynom:al which agrees with the table
below given values. Hence obtain the value of f{x) at x = 6
: X. 0 3 5 2 30 4 k
4007 N5 =10 9174 35 90
Obtain the root for each of the following Equanons using Regula Falsi Method by 5 iterations.

Fx)= S8X+ 40 =0 upto 4 decimal places with xo = -5 and x; = -4.
Obtain the root for each of the following equations by Newton Raphson Method by 5 iterations.
F(x)= '2x"+ 5x% 45X + 3= 0 uip to 4 decimal places

Explain Bisection method. F ind the approximate root of x* — x — 4 = 0 by Bisection method up
to 4 decimal places. Perform 4 iterations.

Attempt any three of the followmg 15
Solve the following system of equation by Gauss-Jordan elimination method.
X<y+2=10;2x+4y =12;x+y + 5z=-1

Solve the following system of equation, correct to four places of decimals by Gauss-Seidal
method perform 4 iteration use pivoting if necessary:

30x =2y +32="75;2x +2y + 182=30; x + 17y - 22 = 48
[TURN OVER]
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Q. P. Code : 33414

2
Evaluate [log (1+x)"? dx using Simpson’s one third rule with 8 sub-intervals.
0

10 e

Evaluate [ (x +1/x) dx by Trapezoidal Rule with 10 sub-intervals and find the errot.

0 : :
Find the values of y(0.1) and y(0.2) using Euler’s modified methods with h = 0.1 given that
dy/dx +y/x =y2 y(1)=1. RO s
Find y(0.2) and y(0.4) taking h(0.2) by second order Runge-Kutta method given that
dy/dx = (y-x)/(y+x), y(0) = 1 e P
Attempt any three of the following:

An electrical firm manufactures circuit boards in two configurations, say (1) and (2). Each
circuit board in configuration (1) requires 1 component of A, .2 components of B and 2
components of C, each circuit board in ‘configuration (2) requires-2 components of A, 2
components of B and 1 Component of C. Total components available are 30, 30 and 25 of A,
B and C respectively. If the profit realized upon sale is Rs 200 per circuit board in configuration
(1) and Rs 150 per circuit in configuration (2). How many circuit boards of each configuration
should the firm manufacture so:as'to maximize profit? Formulate the problem-as Linear
programming model and solve graphically, o .
A diet is to contain at least 400 units of carbohydrates, 500 uttits of fat and 300 units of protein.
Two foods are available F 1 which costs Rs 2 per units and 2 which costs Rs 4 per unit. A unit
of food F1 contain 10 units of carbohydrates; 20 units of fat and-15 units of protein and a unit
of food F2 contains 25 units of carbohydrates, 10 units of fat and 20 units of protein. Find the
minimum cost for a diet that consists of a mixture of these two foods and also meets the
minimum nutrition requirements. Formulate the problem as Linear programming model.
Explain the Applications of Linear Programming in Business and Industry.
Find the straight line approximation to the following tathe o 5

Xl S ST I T PN TD [ I BT L6 | 66 | 67
X000~ ot 4F 9] ~72 70 70 _1.68 67 68 64
Find the least sqilarq polyhomial approximation of degree two equation from data below:
x> J 118 Y N 5 6 7 8 9
ot G R 0 £ < IE a0 1 10 9
Obtain a regression plane by using multiple regression to fit the following data.
TR 0 1 2 3 4
Gz BpP2sl-3 | 4 | s
1Y 13 37, 19 21 26

Attempt any 'g.-hr%eé of the following:

Explain the following

i) “Random Variable ,

ii) Probability density function

iii) . Probability- mass function
The probability distribution function of a discrete random variable X is given b
X : 42 o -1 0 1 2
P(X=x).: ~ 101 0.15 0.2 0.15 0.4

Find i) P(X<=0) ii) P(X>=-1). Also obtain the probability distribution of y = x?

BA2FAD5SBCD33A799A83AA3019E99AACF
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bability distribution.
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N.B.: (1) All questions are compulsory. :
(2) Make suitable assumptions wherever necessary'
(3) Answers to the s gme guestlon must be wrlt ent

1.  Attempt any three of the following: P ;_% X

a.  List and explain the various toxins pregﬁnf in

b.  What is carbon footprint? Briefly explamihpw
footprint? S A

& P 15
Explain the features‘aﬁd hgrdwg?e*s;iéclfmatlm 0
How can you mmf‘nfié»excesswq YOWeriout]

15
= y three. of the*foIIOWmE 15
3 What is ré 'rbiéhfng?xWhaﬁ l§ commercial and non-commercial refurbishing?
Bnefly exp lair p’haﬁes of a computer product’s life cycle.
How to\cleah

[TURN OVER]
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Attempt gny three of the following

5

a.

Write a note on Customer Relationship Management.

components.

b.

What is Green Procurement?
Write a note on SMART Goals.

c
d.

Explain the role of Chief Green Officer?

e
f.
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